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for the questions
1. Pt vee e Ted far 1x8=8
Answer the following as directed : -

(@) TR I I ?
What is scarcity?

(b) TS @GO SAAS] Cfere TP A=Y ?

Which of the following is not a basic
problem of the economy?

(i) & Seome F4 2]
What to produce
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3
(2) it

(d) I TH 7 AT T IR SO G4 T G
AT, (SR BIRAE w9 Ffogreel 279

If, as a result of increase in price, total

(i) FCUS TeAW 39 39

How to produce

el R | mameREe
To whom to produce equal to
() ST el Foe wm @7 - () *F/0
How to maintain economic stability | (i) 9F/1
(% Seach A5 Sfered ) (iii) 72/2
( Choose the correct answer ) (iv) S /oo

(o Taqco! 1S S )
(c) vIEw fRfig e 25 ; ( Choose the correct answer )

The exception to law of demand is ‘
X ‘ ﬁ?@ T AT FTo YIRS |
() ST w3y | ) . AT
w Substitution effect is negative for inferior

. goods.
e o | (= ¢ o fors )
| ( Write True or False )

Veblen goods

Giffen goods

(i) () = (i) sy | () TR @ o afecfenEe TN iz
?
Both (i) ang (ii) gl SN '
] Perfect competition is characterized by
() €T e =y following features, except

None of the ap gy, (i) T AP w_T Reem emm

a considerable advertising by
(o7 Sabiafs o) individual firm

C
( Choose the correct answer )
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(4) | (5)

(i) BT AR @ 2l E o () S @O S T e S 2
free entry and exit of firm to and Which one of the following inputs has the
from industry feature of perfectly inelastic supply?

(iii) TP (el WF Reae | (i) ==
large number of buyers and sellers | Labour

(iv) TARTA SATEPTRS 2J¢f sifeRerer l (i) o
perfect mobility of factors of ' Land

production
| (iii) I
(o= Tt 31 TfFha ) | Capital

( Choose the correct answer )

(iv) SR oIS T

(@ © T G112 = None of the above
Who are the buyers of inputs? | (% Sech A1 Sferer )
(i) Tesm eifBm | ( Choose the correct answer )
Firm B
(@) T 9 2. oy Gt o (R e BIfG1) 4x4=16
Households | Write short notes on (any four) :
(i) > (@) et SRem
GOVernment Property rights
(iv) S99 SFceER (b) @R
All of the above Rationing '
() TISER Y73
7 Taqh! ‘
(Ch e o Sferear ) Consumer surplus
oose the correct answer )
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|
(6) |

(7)
|
(d) dfevsR Aifss 2 ‘ i g
Marginal rate of substitution | £ o A
( T oo 1 Rfozeel Wg@mﬁ?f“ﬂe ofpeR A5 AP
i . | STl 41 | SiReE e EfemAeel e
OWHEOPOIY . | safeq A aan 9 2+4+5=]1
g What is elasticity of qe_ma_nd?
; ‘ Distinguish between point elasticity and
b arc elasticity of demand. Discu.s.s the
| method of measuring arc elasticity of
3. (a) WWW%?qﬁWWWW[ 2

demand.

What is economje model? Explain with |

e | 5. (@ FRCPF @ IR Q7 Fwers Q3w
. - ez Sy 91 FReT @IE REe
WO SocerE ST 9 91 2+4+5=11
(b) fafze SIS Ty 2 3" T PR | Whatistan indiffere:}ce.curve? Mention
Rl | roperties of indifference curve.
et el d ilibrium with the
What ig | Explain consumer’s equilibrium
i s S o ? ‘ indi e curve.
Give its majn features. e ‘ help of indifferenc
91/ Or
4.
(a) ﬂfimmiﬂmﬁmﬂﬁmﬁf%tmwwlﬂfiﬂ? (p) ofoTE ¥ WE SEEE AT FE QR
s TR SHCE | @R SEEd SITHE AIRTE
' CIB ¥ 3
TTf- 2+2+7:11 | EEI| S 2 4+7=11
E: 1;1‘? demang Mention law of demand. ! Distinguish between substitution effef:t
th 4 1”1 the- faCtorS Which bring about ‘ d income effect. How do they explain
Pl st | ?;e shift in consumer’s equilibrium?
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(8) |

6. (a) T 3, A I, F@ I e K T |
TR ATRIPTE, <7y <o | 3+3+3+3=12 |

Explain the concept of money cost, real !

|

COSt, opportunity cost and selling cost
with the help of Suitable example.

=T/ Or

() S eRecfronEm ooy A AT
W%Wﬁ@w@mﬂﬁm‘?ﬁcﬁ

2B 4373 g % SISl 9T ‘
0 113
Expllain. the fQuilibrium of 4 firm
employing twq Variable inputs in the
short run and long run
Y_1/ Or

AR B G & =2
%Www&mmcwmﬁchww,
TG 3537 | 2+9=11
What is marke
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